IRISEIL B H 568

2R IIL3RR

L 7—

/ A
// \

10B=

/P" g \“*i

W

ZN

1 [BROB) 2 3 4 5
930 | 11:00112:830( 1350 | 15:30 13:50 15:3830 1350 15:380 13:50 15:380 930 | 11:00[12:830| 13:50| 15:30
stn | 2tn | TR Son| B FR — ik zlj:/u — i Fv X — i ZX | aon TR Ao | B
6 V4 8 ®) 10 11 12
9:30 | 11:00[12:830| 13:50 | 15:30 Wﬁga {75 ; % 3 7? &AD {75; g 1 7'_2 z@ 13:50 15:30 13:50 15:30 9:30 | 11:00 |12:30| 13:50 | 15:30 18:00\
k> k> RS n %v d) %-U- d) F5 1 n KX R3S ) '_._”E_E E%
26| 260 [ T2R | 26n | B BEEOHDTEA BEIOHDIFEA =Eh —fi& FvX —f 5K | 264 T2 264 %g 8532
13 14 (ZAR—wvmnA) 15 16 17 18 19
9:30 | 11:00[12:830| 13:50| 15:30| 9:30 | 11:00[12:830| 13:50 | 15:30 13:50 1530 13:50 15:30 13:50 15:30 - 14:00 18:00 N
m
Bld
kS | kS kS o| BS | RS kS n Wﬁga n S n n RhH | ITSRIUDN | TSRIUDA
z6h | 26h T2 264 | —8 | 264 | 260 |T2R | 264 | — B FvX —h ZEj/u —i FyX — i L R g‘ﬂj—h
20 21 22 23 24 25 26
9:30 | 11:00[12:80| 13:50 | 15:30 1350 1530 1350 15.30 1350 1530 1350 15.30 9:30 | 11:00|12:830| 13:50 | 15:30
N = H = .= = B
26n | 260 | TY2| 26k | B WEE e —ig FyZ — e — FyZ — R P RE &L %Eﬂ
27 28 29 30 31 B0 : 2024 8 38
9:30 | 11:00 [12:30| 13:50 | 15:30 13:50 15:30 13:50 15:30 13:50 15:30 (ARY EFETEEICRBCENTENFET, )
N IS AEEB — =
R R !F%F':J S n . o S —an
LLVOHN LELF-IREE D> LZOHRYNDT T5R2J I LANID 1>
—fi% - [KBRNZEIRE ] KITIN -+ 10/5(1) - 10/12(1) - 10/26(1) ¥BF—VId. NEEK—AR—ITHASE LET.
RSZBA - TTSRIIUDLA RSZEBEA FEOERE] FEHEE [FPHBIFIUBOHER] 57—~ BEOSPILINESOFLS (10/12(1)
FwX - FFVNEABHELE>TAMND | EZR3IF - 1012w
TSRO UIDADIY =k - Iv V)L [T—=LBE] @o/1o)
SRR RS [\ODJ 1 YDEZR] (10/26(1) « 27BN

RIFFLUE -

TS5RB) I deRIITE LS (o26b) - 278D



